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Note : This paper is of forty (40) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 

[k.Mksa ^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks 

bu [k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa 

ds mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of nine and half (9
1

2
) marks each. 

Learners are required to answer two (02) questions 

only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<+s ukS (9
1

2
) vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What are energy plantations ? Describe and elaborate 

its importance. 

ÅtkZ o`{kkjksi.k D;k gSa \ le>kb, ,oa mlds egRo dk 

mYys[k dhft,A 

2. What do you understand by the term ‘Taungya’ ? 

Discuss its types in India. 

^ou[ksrh* ‘kCn ls vkidk D;k vfHkizk; gS \ Hkkjr esa blds 

izdkjksas dks le>kb,A 

3. What is thinning ? Why is thinning important ? 

Discuss. 

N¡VkbZ D;k gS \ ;g D;ksa vko’;d gS \ mYys[k dhft,A 

4. What is a nursery ? Discuss its importance and types. 

ikS/k’kkyk D;k gS \ blds egRo ,oa izdkj dks of.kZr 

dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of four (04) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, pkj ¼04½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. What are seed orchards ? Describe. 

chtks|ku D;k gS \ mYys[k dhft,A 

2. Describe the different fencing types and its importance. 

fofHké ckM+ksa ds izdkjksa ,oa egRo dks le>kb,A 

3. What are cover crops ? Describe in brief. 

lqj{kk Qlysa D;k gSa \ laf{kIr esa le>kb,A 

4. What are fertilizers ? Describe in brief. 

moZjd D;k gSa \ laf{kIr eas le>kb,A 

5. What are the objectives of large-scale plantations ? 

Write a short note. 

^cM+s iSekus ij o`{kkjksi.k* ds D;k mn~ns’; gSa \ laf{kIr esa ,d 

ys[k fyf[k,A 

6. What are Petro Crops ? Describe in short. 

^isVªks* Qlysas D;k gSa \ laf{kIr esa le>kb,A 

7. What are shelterbelts ? Describe in brief. 

okrjks/kd D;k gSa \  laf{kIr esa le>kb,A 

8. What do you understand by Seed treatment ? Describe 

briefly. 

chtksipkj ls vki D;k le>rs gSa \ laf{kIr esa le>kb,A 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of half  1

2
 mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk  1

2
vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

1. Barbed wire fencing is an expensive method. 

(True/False) 

dk¡Vsnkj rkj dh ckM+ ,d eg¡xk rjhdk gSA ¼lR;@vlR;½ 

2. Shifting cultivation is a constructive practice. 

(True/False) 

LFkkukUrj.k d`f”k ,d jpukRed fo/kk gSA ¼lR;@vlR;½ 

3. Turpentines are oleo-resins obtained from oak trees. 

 (True/False) 

rkjihu rSyh jky gSa tks ck¡t ds isM+ ls izkIr gksrs gSaA 

    ¼lR;@vlR;½ 
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4. Singling is performed in early stages of the life of a 

tree.     (True/False) 

^flafXyax* ¼,dy fo/kk½ isM+ ds thou esa izkjfEHkd voLFkk esa 

dh tkrh gSA   ¼lR;@vlR;½ 

Fill in the blanks : 

fjDr LFkkuksa dh iwfrZ dhft, % 

5. Eucalyptus is an ............. species. 

;wdsfyIVl ,d 
---------------------- 

tkfr gSA  

6. Cleaning is carried out in the .......... stage of a crop. 

lQkbZ Qlyksas dh 
----------------------

 voLFkk esa dh tkrh gSA 

7. First attempts of organised plantation was done in 1842 

by Mr. Conolly by plantation of ............... in Nilambur. 

laxfBr o`{kkjksi.k lu~ 1842 esa fe- dksuksyh }kjk uhykEcwj essa 

---------------------- 
dks ò{kkjksfir dj ds fd;k x;kA 

8. Full form of ICAR is ............ . 

vkbZ- lh- ,- vkj- dks foLrkfjr dhft,A 

Choose the correct alternative : 

lgh fodYi pqfu, % 

9. Electric fencing is also called : 

(a) Good fencing 

(b) Bad fencing 

(c) Shock fencing 

(d) None of the above 
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fctyh ckM+ dks ;g Hkh dgk tkrk gS % 

¼v½ vPNh ckM+ 

¼c½ cqjh ckM+ 

¼l½ >Vdk ckM+ 

¼n½ mi;qZDRk esa ls dksbZ ugha 

10. Which of the following species is used for coastal land 

afforestation ? 

(a) Pinus roxburghii 

(b) Pinus equisetifolia 

(c) Rhododendron arborium 

(d) None of the above 

buesa Lks dkSu lh iztkfr rVh; bykdksa esa ouhdj.k esa iz;qDr 

dh tkrh gS \ 

¼v½ phM+ ¼ikbul jkDlcxkZbZ½  

¼c½ taxyh l: ¼dStqvkjkbuk bD;wlsVhQksfy;k½ 

¼l½ cqjka’k ¼jksMksssMsUMªkWu vkjcksfj;e½ 

¼n½ mi;qZDRk esa ls dksbZ ugha 
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